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3350|/\A(TEEHICLBHAE A 189.000| [A] 2483 469,287 2,436 460,404
3351 |/ (T EEH- kBT BpemE 94500 A 19,715| 1,863,068 19,520 1,844,640
3213|BHEt/KAEHE A E R BE 1R 1EHA LY 72.000| H 77,522 5,581,584 29,675 2,136,600
3353|GPSERAI RV E I #&1H 8.000( [A] 135,833| 1,086,664 120,740 965,920
B 9,000,603 5,407,564
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3347|/ A FEEH L BT HE[20mLL E30mEKH 2.000] F. 242240| 484,480 80,100 160,200

3348|381 FEEH L BAE BE[4OmLULE 6.000 F. 556,718 3,340,308 120,150 720,900

3350|/SA FEEH L BT B 172.000 [E] 2483| 427,076 2,436 418,992

335151 TEEtI= LT BB 43.000 H 19,715| 847,745 19,520 839,360

3213|HERkMEt RS EE 1 E1EA LY 43.000 H 77,522| 3,333,446] 29675 1,276,025

3352|BEMEBARUVHERE 38.000| = 16,261| 617,918 14,987 569,506

3223 | #h SRR MEETERAI 90.000( [A] 3,846] 346,140 2,436 219,240

3224 | Mh R HMEET E FI IR 22500 B 17,099] 384,728] 16,930 380,925

3216t FkBEBAE KK B |[FLEIOMET 2.000| F./[E] 78511| 157,022 77,990 155,980

3218 FKREBAE KK EB [ FLEI0MLLE 6.000| FL/[El 94,109| 564,654| 93588 561,528

3217 |t FkBEBACERH LB [ FLEIOMET 2.000| F./[E] 94613 189,226/ 94,010 188,020

3219t F/AKBEBACRA LT [FLE3OmLLE 6.000/7./@E| 113,415 680,490 112,812 676,872

3220 FKIREBRTYTHE) 16.000/ #L 41,708|  667,328| 40,290 644,640

3356 |+ uk—y> sor—namsssmmmrcyin |FAE F A L=50m 95.000] m 29,300| 2,783,500 0 0

3357 | sun—vsrot—nanssmzmrcus [SRE T A L=50m 4.000[ m 59,600| 238,400 0 0

3358 |mamt—y> rot—namseemmirs: [SRAE T A L=50m 20.000] m 28,550 571,000 0 0

3359 |ty ror—raz) seemmbms [SRAE T A L=50m 16.000[ m 35,600 569,600 0 0

3360|+mr—vssor—namessmmircyt [ERTE F A 50m<L=80m| 205.000] m 32,230| 6,607,150 0 0

3361 [+ar—uror—ramssommzmriy: | RIE T/ 50m<L=80m 4000 m 65,560 262,240 0 0

3362 |zmr—ysscr—nan¢emmizs [FRE FA 50m<L=80m| 20.000] m 31,405/ 628,100 0 0
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3363 |zmr—yosor—rar seemmebimz [FREL T/ 50m<L=80m| 16.000| m 39,160 626,560 0 0
3300| E K EBEIEMYFELD EEAGEEELEBHES) 1.000( %75 85,104 85,104 0 0
3302 | E E D ERL EEAGEEEEBRED) 1.000| ¥ 85,104 85,104 0 0
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3350/ A TESIcLBRE A 45.000 [A] 2,483 111,735 2,436 109,620
3351 |, sTEeticL2mE EuER 22500/ H 19,715 443588 19,520 439,200
3213| Btk ERAEHEE N & 1EHA LY 18.000| B 77,522| 1,395,396| 29,675 534,150
3222 [ RPMEET R E BWEITALRET E 1.000| %t 103,810/ 103,810 64,080 64,080
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2150( 5t #E g BEMEMT HRREROGm2UT 1.000] #£%| 200,800/ 200,800 200,800 200,800
2194 | #h AR AR G BE B N RBERO6km2LLT 1.000| 275 | 205,200/ 205,200| 205,200 205,200
2196 [Hh B4 AR ES BRESEAT A RLEMO.6km2LL T 1.000] 27| 430,920 430,920 430,920 430,920
2201 [HEIE AR T 17095 SSELER0.6km2LL T 1.000| #7| 250,800/ 250,800 250,800 250,800
2203 [#AE R T 3709 HEBEROGkm2LLT 1.000| 75| 401,280] 401,280| 401,280 401,280
2216| & FEfRHT SWE WERERKmLUT 2000 #£7| 250920/ 501,840 250,920 501,840
2227 |3R &S =R SAETEB &1 1.000] 27| 198,200/  198,200| 198,200 198,200
2252|131 & B 1HE RAEX 2% 4[] 1.000] # 206,600 206,600 206,600 206,600
B8 RIGHRERVEEE 1.000[ = 148,200] 148,200 148,200 148,200
9| BREFFTESERER 1.000[ = 412,400 412,400 412,400 412,400
& 2,956,240 2,956,240
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2150( 5t #E g BEBEH HRLEROGkm2LLT 1.000 #7%| 200,800 200,800/ 200,800 200,800

2195 | h AR fr M AR 5 BB NRBERO6km2LT 1.000| 275 | 328,320] 328,320| 328,320 328,320

2202 [HEtE AR 270y HEBEROGkm2LLT 1.000] 27| 326,040] 326,040 326,040 326,040

2215| R FEfRHT 2WE MERERKMLUT 1.000| 275 | 230,010 230,010] 230,010 230,010

2227 |3R &S =R SAEiEB &1 1.000] 27| 198,200/ 198,200 198,200 198,200

& 1,283,370 1,283,370
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2154 (5t #E i BEMEMS HRLEROGm2UT 1.000] #£%| 301,200/ 301,200[ 301,200 301,200
2196 | #h AR AR BEOER MR BEROGkmILLT 1.000| 275 | 430,920 430,920| 430,920 430,920
2203 [#EAE AR AT 370y HREMEMOSkm2LLT 1.000| 75| 401,280] 401,280| 401,280 401,280
2216| & FEfRHT SWE WEKRERKMLUT 1.000| 275 | 250,920 250,920| 250,920 250,920
2229 3R EE1ERK REEEH4 1.000| 7% | 237,840 237,840| 237,840 237,840
3237|# FKIREEF DR 24.000| 44472| 1,067,328| 35,240 845,760
3299| EHBERYFELSD EEAMR@TSRELBES) 1.000| (75 69,768 69,768 0 0
3301 | M E K ZE D YER EEAGBRITSRELBRS) 1.000| 7% 65,340 65,340 0 0
B8 RIGHRERVEEE 1.000[ = 148,200] 148,200 148,200 148,200
9| BREFFTESERER 1.000[ = 412,400 412,400 412,400 412,400
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2150( 5t #E g BEBEH HRLEROGkm2LLT 1.000 #7%| 200,800 200,800/ 200,800 200,800

2195 | h AR fr M AR 5 BB NRBERO6km2LT 1.000| 275 | 328,320] 328,320| 328,320 328,320

2202 [HEtE AR 270y HEBEROGkm2LLT 1.000] 27| 326,040] 326,040 326,040 326,040

2214| R FEfRHT 1HE MERERMMLUT 2000 #7| 209,100/ 418,200 209,100 418,200

2227 |3R &S =R SAEiEB &1 1.000] 27| 198,200/ 198,200 198,200 198,200
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810[424% 7°5%4100%100%1500mm 8.000[ & 39,300/ 314,400 0 0
3364|{ERI# B 1H(15° ~30° )[50m<L=80m 2.000| & Fr| 140,700 281,400 0 0
3365|{tERI 1 B 15(30° ~45° )[L=50m 4.000| BAT| 161,000 644,000 0 0
3366 |{ERI# B 15(30° ~45° )[50m<L=80m 2.000| B Fr| 169,050 338,100 0 0
3367|E/L—IL:E S L=50m 2.800] t 12,800 35,840 0 0
3368|E/L— L& 50m<L=100m 2.800] t 20,700 57,960 0 0
3369| E/L— L E S 100m < L=200m 2.800] t 25,900 72,520 0 0
3370|E/L—JLEEER-HE [L=50m 1.000| &AF| 225,500 225500 0 0
BN [E/L—ILEE-HE  [50<L=100m 1.000| EFF| 372,000 372,000 0 0
3372|E/L—ILEEER-HE  [100<L=200m 1.000| BT | 695,000 695,000 0 0
3373|E/L—/LiEH L=50m 15.000, H 1,350 20,250 0 0
3374|€/L—/LiE% 50<L=100m 36.000| H 1,500 54,000 0 0
3375|€/L—ILiEH 100<L=200m 18.000| H 1,850 33,300 0 0
3376 B R UE A 4+ 1.000| 75| 223,000/ 223,000 0 0
33774 KB (R T E#L) 8.000| & FR 19,200| 153,600 0 0
g 3,520,870 0
e FERSHE: TOMmEE
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2| E{EHED RIFMTEHEEEREE 2.000] A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
B 206,600 206,600 0.000 0
B fiff 1.0 43y 206,600
EEANE 206,600
ZTDMIRE 0
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3| FEMA RIFMTEHEEEREE 0.840[ A 51,200 43,008 51,200 43,008 0.000 0
4|3 EfB R EHEEEREE 1.340 A 40,600 54,404| 40,600 54,404 0.000 0
5|3EMC RIFZMTEHEEEREE 11701 A 32,800 38,376/ 32,800 38,376 0.000 0
ez =] R EEEREE 21700 A 29,000 62,930[ 29,000 62,930 0.000 0
22|HT R EHEEEREE 2.000] A 29,600 59,200 0 0 0.000 0
i 257,918 198,718 0.000 0
B fiff 1.0 KBy 257,918
EEANE 198,718
ZTRMBE 59,200
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3| FEMA RIFMTEHEEEREE 0.920] A 51,200 47,104 51,200 47,104 0.000 0
4|3 EfB R EHEEEREE 14200 A 40,600 57,652| 40,600 57,652 0.000 0
5|3EMC RIFZMTEHEEEREE 2210 A 32,800 72,488 32,800 72,488 0.000 0
ez =] R EEEREE 22100 A 29,000 64,090[ 29,000 64,090 0.000 0
22|HT R EHEEEREE 2.000] A 29,600 59,200 0 0 0.000 0
i 300,534 241,334 0.000 0
B fiff 1.0 XHY 300,534
EEANE 241,334
ZTRMBE 59,200
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5|3%EMC RIFMTEHEEEREE 1.390 A 32,800 45,592 45,592 0.000 0
ez =] R EHEEEREE 2.390] A 29,000 69,310 69,310 0.000 0
B 114,902 114,902 0.000 0
B {f 1.0 XHY 114,902
EEANE 114,902
ZTDMIRE 0
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2| E{EHED RIFMTEHEEEREE 0.630[ A 57,400 36,162 36,162 0.000 0
4|3 EfB R EHEEEREE 1.260] A 40,600 51,156 51,156 0.000 0
B 87,318 87,318 0.000 0
B {f 1.0 XHY 87,318
EEANE 87,318
ZTDMIRE 0
data| (&%) BEMKX ILUEETE03hakis 02 BEHELIREOHA +0.2
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R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0190 A 40,000 7,600| 40,000 7,600 0.000 0
* 17[ B = e R EHEEEREE 0.850] A 30,700 26,095/ 30,700 26,095 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.850[ A 29,600 25,160/ 29,600 25,160 0.000 0
* 19[;BI =B & R EEEREE 1.680] A 24,200 40,656 24,200 40,656 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 99,511 4,976 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 99,511 1,493 0 0 0.000 0
B 105,980 99,511 0.000 0
B fiff 1.0 XHY 105,980
EEANE 99,511
ZTRMBE 6,469
data (%) BEMEK LUEEFE0Shakit BRIBEERTE ~28Fr Hhix
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* 168 E FEh RIFMTEHEEEREE 0.060] A 40,000 2,400| 40,000 2,400 0.000 0
* 17[ B = e R EHEEEREE 0.480] A 30,700 14,736 30,700 14,736 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.870] A 29,600 25,752] 29,600 25,752 0.000 0
* 19[;BI =B & R EEEREE 0.790[ A 24,200 19,118| 24,200 19,118 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 62,006 3,100 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 62,006 930 0 0 0.000 0
B 66,036 62,006 0.000 0
B fiff 1.0 XHY 66,036
EEANE 62,006
ZTRMBEE 4,030
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R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 1.100] A 40,000 44,000/ 40,000 44,000 0.000 0
* 17[ B = e R EHEEEREE 1.550] A 30,700 47,585| 30,700 47,585 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 2.650] A 29,600 78,440 29,600 78,440 0.000 0
* 19[;BI =B & R EEEREE 22000 A 24,200 53,240 24,200 53,240 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 223,265 11,163 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 223,265 3,349 0 0 0.000 0
B 237,777 223,265 0.000 0
B 1 1.0 XHY 237,777
EEANE 223,265
ZTRMBE 14,512
datal (&%) BEMX #EETER 50mkim #hii 2
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* 168 E FEh RIFMTEHEEEREE 3.880 A 40,000 155,200 40,000 155,200 0.000 0
* 17[ B = e R EHEEEREE 3.880] A 30,700 119,116/ 30,700 119,116 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
21| Ed1EXE SHIFEIAFE 7.750] A 18,800 145,700 0 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 274,316 13,716 0 0 0.000 0
502 | MR B CRB L) Mg LEIcmT 284 1.500 % 274,316 4,115 0 0 0.000 0
B 437847 274,316 0.000 0
B 1 1.0 XHY 437,847
EEANE 274,316
ZTDMhIEE 163,931
datel (f52) BEHMR X FE BIEERIE2~3kmkE 095 HFHIEZER20° ~30° ki 1.0
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R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.500] A 47,500 23,750| 47,500 23,750 0.000 0
1M[FEHERES |RIEMERERE 0.500[ A 35,000 17,500/ 35,000 17,500 0.000 0
12(ERES RIFZMTEHEEEREE 1.500f A 25,900 38,850| 25,900 38,850 0.000 0
x | 834|/\ATEHET VP01 5.2~ 1 mp AN~ 25.000f m 4,200 105,000 0 ol iRz & 0.000 0
* | 839[)—F#z VP40mm 362.500] m 80 29,000 0 0]25.00/2+25.00+400] | 0.000 0
504|#1 #1 & NELEIcHTIEE 21.000] % 134,000 28,140 0 0|#HI & 0.000 0
i 242,240 80,100 0.000 0
B fiff 1.0 ALY 242,240
EEANE 80,100
ZTDMhIEE 162,140
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T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.750[ A 47,500 35,625 47,500 35,625/0.50%1.5=0.75 || 0.000 0
1M[FEHERES |RIEMERERE 0.750[ A 35,000 26,250[ 35,000 26,250/0.50%1.5=0.75 || 0.000 0
12(ERES RIFZMTEHEEEREE 2.250[ A 25,900 58,275 25,900 58,275[1.50%1.5=2.25 || 0.000 0
x | 834|/\ATEHET VP01 5.2~ 1 mp AN~ 55.000 m 4,200 231,000 0 ol iRz & 0.000 0
*x | 839|)—FK#R VP40mm 1,622.500( m 80 129,800 0 055.00/2x(55.00+400] | 0.000 0
504|#1 #1 & NELEIcHTIEE 21.000] % 360,800 75,768 0 0|#HI & 0.000 0
i 556,718 120,150 0.000 0
B fiff 1.0 ALY 556,718
EEANE 120,150
ZTDMhIEE 436,568
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* 1|FEMEREES |[RIEMBEEEREE 0.040[ A 35,000 1,400] 35,000 1,400 0.000 0
* 12| EREE R EHEEEREE 0.040[ A 25,900 1,036] 25,900 1,036 0.000 0
504 |1 & MR LHEIcHTHES 1.000[ % 2,436 24 0 0| & 0.000 0
808|E I E 25 INMTUVTHETH 0.040| & 570 23 0 ol iRz & 0.000 0
i 2,483 2,436 0.000 0
B fiff 1.0 @HY 2,483
EEANE 2,436
ZTRMBEE 47
data| (f&%) 151,000%0.3773/100=570
2




= REE?
=25 1 A B (i 3= e
HHES 3351 _ = 55 ZiFEE| 3351 |EEAMETEER
BRAF [N TEFFICKEFAE EHEE 1-FNo YER D 1.00 YE R B L A RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.100[ A 47,500 4,750| 47,500 4,750 0.000 0
* 1M[FEHERES |RIEMERERE 0.200[ A 35,000 7,000, 35,000 7,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.300] A 25,900 7,770| 25,900 7,770 0.000 0
504|#1 #1 & NELEIcHTIEE 1.000[ % 19,520 195 0 0|#HI & 0.000 0
i 19,715 19,520 0.000 0
B 1 1.0 H&Y 19,715
EEANE 19,520
ZTRMBEE 195
data| (5#)
2




= REE?
=25 1 A B (i 3= i
HHES 3213 L = 55 ZHRES| 3213 |EEsnEEE
BE& M | Bio KAt ERBE 1-FNo YER D 1.00 YE R B L A RE ESTETAE J=E-T
B ENEIEANEY _ 3-4-1-2 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.050] A 47,500 2,375 47,500 2,375 0.000 0
* 1M[FEHERES |RIEMERERE 0.780[ A 35,000 27,300/ 35,000 27,300 0.000 0
504 |1 & MR LHEIcHTHES 1.000[ % 29,675 297 0 0| & 0.000 0
803| B EB/K L5 PCh—F= 30.000, H 1,585 47,550 0 0| MR B 0.000 0
B 77,522 29,675 0.000 0
B 1 1.0 H&Y 77,522
EEANE 29,675
ZTRMBEE 47,847
data| (&%) 420,000*%0.3773/100=1,585
2




= REE?
=25 1 A B (i 3= e
HHES 3216 | _ = 55 ZHRES| 3216 |EEsnEEE
HEifa % [ TFKEBABRKELIERE) 1-FNo YER D 1.00 ERCERL| /A RE ESTETAE J=E-T
# & |FLR30mET _ 3-4-7- . B NEEAHRE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.600] A 47,500 28,500/ 47,500 28,500 0.000 0
1M[FEHERES |RIEMERERE 0.600[ A 35,000 21,000/ 35,000 21,000 0.000 0
12(ERES RIFZMTEHEEEREE 1.100] A 25,900 28,490| 25,900 28,490 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |41 ¥ & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.600 H 815 489 0 0|t 2 & 0.000 0
i 78,511 77,990 0.000 0
B fiff 1.0 Fl/EHY 78,511
EEANE 77,990
ZTRMBEE 521

datal (&%) 1FL1[E1Z7=Y) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= e
HHES 3218 | _ = 55 ZHRES| 3218 |EEsnEEE
HEifa % [ TFKEBABRKELIERE) 1-FNo YER D 1.00 ERCERL| /A RE ESTETAE J=E-T
# & |fLR30mIUL _ 3-4-7- 1 - NEZEAE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.720] A 47,500 34,200| 47,500 34,200 0.000 0
1M[FEHERES |RIEMERERE 0.720f A 35,000 25,200( 35,000 25,200 0.000 0
12(ERES RIFZMTEHEEEREE 1.320 A 25,900 34,188 25,900 34,188 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.600 H 815 489 0 0|t 2 & 0.000 0
i 94,109 93,588 0.000 0
B fiff 1.0 Fl/EHY 94,109
EEANE 93,588
ZTRMBEE 521

datal (&%) 1FL1[E1Z7=Y) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= e
M &S 3217 _ =] 55 ZRES| 3217 |aRHnEEE
B4 [ FKEBACRA LITIRE) 1-FNo YER D 1.00 ERCERL| /A RE ESTETAE J=E-T
# & |FLR30mET _ 3-4-7- . B NEEAHRE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.700] A 47,500 33,250| 47,500 33,250 0.000 0
1M[FEHERES |RIEMERERE 0.700[ A 35,000 24,500( 35,000 24,500 0.000 0
12(ERES RIFZMTEHEEEREE 1.400[ A 25,900 36,260| 25,900 36,260 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.700 H 815 571 0 0|t 2 & 0.000 0
i 94,613 94,010 0.000 0
B fiff 1.0 Fl/EHY 94,613
EEANE 94,010
ZTRMBEE 603

datal (&%) 1FL1[E1Z7=Y) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= i
M &S 3219 _ =] 55 ZHRES| 3219 |ERHnEEE
B4 [ FKEBACRA LITIRE) 1-FNo YER D 1.00 ERCERL| /A RE ESTETAE J=E-T
# & |fLR30mIUL _ 3-4-7- 1 - NEZEAE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.840] A 47,500 39,900/ 47,500 39,900 0.000 0
1M[FEHERES |RIEMERERE 0.840[ A 35,000 29,400[ 35,000 29,400 0.000 0
12(ERES RIFZMTEHEEEREE 1.680] A 25,900 43512 25,900 43,512 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.700 H 815 571 0 0|t 2 & 0.000 0
i 113,415 112,812 0.000 0
B fiff 1.0 Fl/EHY 113,415
EEANE 112,812
ZTRMBEE 603
data| (&%) 1FL1[EZ7-1) 216,000%0.3773/100=815
2




= REE?
=25 1 A B (i 3= e
HHES 3220 L = 55 ZHRES| 3220 |EEsnEEE
H{fi & %5 | #h FKREBB(RTYITRE) 1-FNo YER D 1.00 YE R B L FL RE ESTETAE J=E-T
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.300[ A 47,500 14,250| 47,500 14,250 0.000 0
1M[FEHERES |RIEMERERE 0.300[ A 35,000 10,500/ 35,000 10,500 0.000 0
12(ERES RIFZMTEHEEEREE 0.600[ A 25,900 15,540| 25,900 15,540 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 1.700| A 815 1,386 0 0|t 2 & 0.000 0
i 41,708 40,290 0.000 0
B fiff 1.0 ALY 41,708
EEANE 40,290
ZTRMBEE 1418

data| (&%) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= e
HHES 3222 | mE 55 ERES| 3222 |mEskEEE
Bl % (HhRBHEETRE 1-FNo ER > £ 1.00 YE R B L X RE e E A=
B [REEFRREE _ 3-3-1-1 . 3 NEEAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.400] A 47,500 19,000] 47,500 19,000 0.000 0
* 1M[FEHERES |RIEMERERE 0.400[ A 35,000 14,000| 35,000 14,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 1.200f A 25,900 31,080 25,900 31,080 0.000 0
504|#1 #1 & NELEIcHTIEE 62.000] % 64,080 39,730 0 0|#HI & 0.000 0
B 103,810 64,080 0.000 0
B fiff 1.0 FEY 103,810
EEANE 64,080
ZTRMBEE 39,730
data| (5#)
2




= REE?
=25 1 A B (i 3= e
HHES 3223 = 55 EHRES| 3223 |EEsnEEE
B {4 #F |Hh R (R HEET &R 1-FNo YER D 1.00 YE R B L [ RE e E A=
B & _ -3-1-2 . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.000] A 47,500 0| 47500 0 0.000 0
* 1M[FEHERES |RIEMERERE 0.040[ A 35,000 1,400| 35,000 1,400 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.040] A 25,900 1,036] 25,900 1,036 0.000 0
504|#1 #1 & NELEIcHTIEE 4.000] % 2,436 97 0 0|#HI & 0.000 0
806 | ih 5= E AR ET SRL-13(1 H/8 B iR 43 7500 & 175 1,313 0 0| IR 0.000 0
i 3,846 2,436 0.000 0
B fiff 1.0 [EHY 3,846
EEANE 2,436
ZTRMBEE 1,410

data| (5#)

120,000%0.1460/100=175




— ‘ﬁ; 1
kR R E ey
FFHES 3224 mE 55 ZREE| 3224 |mEzmnEEE
BB 5 |thRPMEETEHERE 31—k No ER D 1.00 E R BT H AE ST E A E A=F-
B & _ -3-1-3 . B NEEAHRE B o= [[REesRONES)
e H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 10[4#h B SR E BEm R ERAERHEE 0.100] A 47,500 4,750 47,500 4,750 0.000 0
* NM|EEMEFES |RIEMEEERE 0.200] A 35,000 7,000/ 35,000 7,000 0.000 0
* 12(ERES R ERAERHEE 0.200[ A 25,900 5,180| 25,900 5,180 0.000 0
504 | ¥ ¥ & RIS HEE 1.000] % 16,930 169 0 0|M¥E 0.000 0
g 17,099 16,930 0.000 0
B fiff 1.0 AHY 17,099
EEAGE 16,930
ZTDMhIEE 169

data| (5#)




= REE?
SR KBS gt
M ES 3228 L mE 55 ZHRES| 3228 |EEsnEEE
Bifa % [BAKESRIRVEHEZE 1-FNo ER > £ 1.00 ER B & A RE e E A=
B & _ 5-1-1-1(2) f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 122(ERES RIFMTEHEEEREE 0550 A 25,900 14,245 25,900 14,245 0.000 0
22| T R EHEEEREE 0.300] A 29,600 8,880 0 0|FHE 0.000 0
504 |1 & HEEHEIcHTBEE 1.000[ % 14,245 142 0 o|# ¥ & 0.000 0
802| BELFREETIEH  |EnfEIwREY 30.000] H 365 10,950 0 ol iRz & 0.000 0
B 34,217 14,245 0.000 0
B fiff 1.0 FHANY 34,217
EEANE 14,245
ZTRMBEE 19,972
data| (&%) 250,000*+0.1460/100=365
2




= REE?
=25 1 A B (i 3= i
HHES 3352 L mE 55 ZHES| 3352 |mEsnEEE
Bl % (BHmEl kUi EEE 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1582 FEHED RIFMTEHEEEREE 0.010[ A 45,700 457| 45,700 457 0.000 0
* 16 = HEf R EHEEEREE 0.130] A 40,000 5,200/ 40,000 5,200 0.000 0
* 178 EFEh#d R3pfiTEEERLE 0.140] A 30,700 4,298 30,700 4,298 0.000 0
* 18[ A= BIF R EEEREE 0170 A 29,600 5032 29,600 5,032 0.000 0
500(FEM & HELHEICHT BEE 8.500 % 14,987 1,274 0 0| Z DR E 0.000 0
B 16,261 14,987 0.000 0
H i 1.0 25Y 16,261
EEANE 14,987
ZTRMBE 1,274

data| (5#)

1/35R8Y HHEE BEERE-MHE




= REE?
=25 1 A B (i 3= i
&S 3353 mE 55 Z83EE| 3353 |mEamemEE
BEEZ |GPSEAI RV & BE 1-FNo YER D 1.00 1 R BT ] AE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1582 FEHED RIFMTEHEEEREE 0.200[ A 45,700 9,140 45,700 9,140 0.000 0
* 16 = HEf R EHEEEREE 0.850] A 40,000 34,000/ 40,000 34,000 0.000 0
* 178 EFEh#d R3pfiTEEERLE 1.700{ A 30,700 52,190| 30,700 52,190 0.000 0
* 19[;BI =B & R EEEREE 1.050] A 24,200 25,410 24,200 25,410 0.000 0
500(FEM & HELHEICHT BEE 12.500] % 120,740 15,093 0 0| Z DR E 0.000 0
B 135,833 120,740 0.000 0
H i 1.0 [EHY 135,833
EEANE 120,740
ZTRMBE 15,093
data| (f5%) 1/10RHY HERE+BEEREMAE




= REE?
SR KBS gt
FHEES 3300 | EE 55 ZEE| 3300 |EEsMEEE
Bl [ ERBERYEED J1-FNo R B 1.00 FEINIES AE e A A=E¢
B e ERAGEEREBES) 1-4 % B NEEAGE B o= || BE2s0nES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
829| EHEBEHMYFELD | ERAETED 1.080| %75 78,800 85,104 0 0| Z DR E 0.000 0
i 85,104 0 0.000 0
B 1 1.0 X7H%4Y 85,104
EEAGE 0
Z DR E 85,104
data| (%) 0.04X+0.76 & —JvH8A
2




= fREEL
SR KBS 52t
FHEES 3302 | EE 55 ZREE| 3302 |EEaMEEE
H {4 75 B R E O /ER J1-FNo R B 1.00 FEINIES AE e A A=E¢
B e ERAGEEREBES) 1-4 % B NEEAGE B o= || BE2s0nES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
831 |MTE BIEERL EEREESD 1.080| %75 78,800 85,104 0 0| Z DR E 0.000 0
i 85,104 0 0.000 0
B 1 1.0 X7H%4Y 85,104
EEAGE 0
Z DR E 85,104
data| (J5%) 0.04X+0.76 & -4 8K
2




= REE?
SR KBS gt
e 3356 | me 55 EHREE| 3350 |EEAMEEER
B |tBER—) 5 H—La7)p66mmiiELY T8 1—FNo YER D 1.00 1 R BT m AE ESTETAE J=E-T
# & |ETH L=50m _ _ . 3 NEEAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
629|+tmx—yr s F—na7) [P 66mm BESELY + 1.000] m 29,300 29,300 0 0| ZDHhiE 0.000 0
i 29,300 0 0.000 0
B 1 1.0 m4lY) 29,300
EEAGE 0
ZTRMBEE 29,300
data| (f5%) BAFLAME SRETH MHIEREI00 BAFEE 50mLlT #HIEFE 1.00
2




= REE?
SR KBS gt
e 3357 | E e 55 EREE| 3357 |EEAMEEER
BB |tER—) TG —La7)deemmERECYLH 1—FNo YER D 1.00 1 R BT m AE ESTETAE J=E-T
# & |ETH L=50m _ _ . 3 NEEAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
630|tmx—u> s F—na7) [ 66mm EEELY LR 1.000] m 59,600 59,600 0 0| ZDIIRE 0.000 0
i 59,600 0 0.000 0
B 1 1.0 m4lY) 59,600
EEAGE 0
ZTRMBEE 59,600
data|(f52) HAFLAER SAETA MIERZKI00 BAFLEE 50mLlT FHIEZEK 1.00
2




= REE?
A 25 {8 71 B 2% 51551
EHES 3358 | mE 55 Z8RES| 3358 |EEsnnEEE
Bl | BB AR—)>5 (A —)La7) @ 66mmERE 1-FNo YER D 1.00 {E R B L m AE e E A=
# E[SETH L=50m _ _ 1% - NEEAE B o= [[REesRONES)
WR BN | #h & 1 B = |HE| B m | & % | B W | = %8 i BE | £ %8
643|zmr—y> s F—ra7) [P 66mm B 1.000] m 28,550 28,550 0 0| ZDHhiE 0.000 0
i 28,550 0 0.000 0
B 1 1.0 m4lY) 28,550
EEAGE 0
ZTRMBEE 28,550
data| (f5%) BAFLAME SRETH MHIEREI00 BAFEE 50mLlT #HIEFE 1.00
2




= REE?
A 25 {8 71 B 2% “sga
EHES 3359 | EE 55 Z8RES| 3359 |EEannEEE
Bl& N |2RR—)oFF—ILa7) d66mmibiE & 1-FNo YER D 1.00 {E R B L m AE e E A=
# E[SETH L=50m _ _ 1% - NEEAE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
644|mr—1> 5 r—ra7) | d 66mm HIEE 1.000] m 35,600 35,600 0 0| ZDHhiE 0.000 0
i 35,600 0 0.000 0
B 1 1.0 m4lY) 35,600
EEAGE 0
ZTRMBEE 35,600
data|(f52) HAFLAER SAETA MIERZKI00 BAFLEE 50mLlT FHIEZEK 1.00
2




= REE?
SR KBS gt
e 3360 | me 55 EHREE| 3300 |EEAMEEER
BlEN |£BR—) I F—)La7)d66mmiSELY £ 1—FNo YER D 1.00 1 R BT m AE ESTETAE J=E-T
# B [SRETAH 50m<L=80m _ _ . 3 NEEAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
916|tmr—yrsa—iram [P 66mmLELY £ 1.000] m 32,230 32,230 0 0/29,300%1.10=32.230] | 0.000 0
i 32,230 0 0.000 0
B 1 1.0 m4lY) 32,230
EEAGE 0
ZTRMBEE 32,230
data| (&) BAFLAM SAETAH WEFZREEI.00 BAFLEE 50miB8OmLLT #HIEZRE 1.10 ZOMEE
2




= REE?
SR KBS gt
e 3361 | E e 55 ERES| 3301 |EBAHEEE
BEEZH |[taR—)> G —La7)demmERECYL 1-FNo YER D 1.00 {E R B L m AE e E A=
# B[ SAETAH 50m<L=80m _ . 3 NEEAGE B o= [[REesRONES)
R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
917|+mx—yrra—iar) | p66mmERELY T 1.000] m 65,560 65,560 0 0/59,600+1.10=65,560] | 0.000 0
E 65,560 0 0.000 0
B 1 1.0 m4lY) 65,560
EEAGE 0
ZTRMBEE 65,560
data| (&) BAFLAM SAETAH WEFZREEI.00 BAFLEE 50miB8OmLLT #HIEZRE 1.10 ZOMEE
2




= REE?
SR KBS gt
e 3362 | e 55 ERE5| 3362 |EBANEES
Bl | BB AR—)>5 (A —)La7) @ 66mmERE 1-FNo YER D 1.00 {E R B L m AE e E A=
# & [SNETAH 50m<L=80m _ _ 1% - NEEAE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
918|gmr—yurrar—iaz) | § 66mmERE 1.000] m 31,405 31,405 0 0/28550%1.10=31.405] | 0.000 0
i 31,405 0 0.000 0
B 1 1.0 m4lY) 31,405
EEAGE 0
ZTRMBEE 31,405
data| (&) BAFLAM SAETAH WEFZREEI.00 BAFLEE 50miB8OmLLT #HIEZRE 1.10 ZOMEE
2




= REE?
SR KBS gt
EHES 3363 | EE 55 Z8RES| 3363 |EEanEEE
Bl& N |2RR—)oFF—ILa7) d66mmibiE & 1-FNo YER D 1.00 {E R B L m AE e E A=
# B [SRETAH 50m<L=80m _ _ . 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
919]zak—y> s—na7) | @ 66mmepiEE 1.000] m 39,160 39,160 0 0/35,600+1.10=39,160] | 0.000 0
i 39,160 0 0.000 0
B 1 1.0 m4lY) 39,160
EEAGE 0
ZTRMBEE 39,160
data| (&) BAFLAM SAETAH WEFZREEI.00 BAFLEE 50miB8OmLLT #HIEZRE 1.10 ZOMEE
2




= REE?
=25 1 A B (i 3= i
FEHES 3364 | EE 55 Z5EE| 3364 |mEsmEEE
&% [Ef#h E5(15° ~30° ) 31—} No R B 1.00 ERR BRI  EFR AE e A A=E¢
B & |50m<L=80m _ _ 2 - NEZEAE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
832|tasimR18(15° ~30° )[50<L=80 1.000] Ay | 140,700 140,700 0 0/134,000¢1.05=140700 | | 0.000 0
i 140,700 0 0.000 0
B i 1.0 FHETEHY 140,700
EEAGE 0
Z DR E 140,700
data| (f5&) R—1J2F FEE 50miB8OmLLT fHIERE 1.05 ZOMERE
2




= aEEL
kR R E ey
IEHES 3365 | EE 55 ZEE] 3365 |meEsnmEEE
HE{l4&# [tEft E5(30° ~45° ) 21—-FNo R 1.00 I AE e RAE A=E8
& 35 [L=50m _ _ % B NEEAE B oz ||EEss0nEs)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
593 |{B &}t B 15 Hh S ERL 30~45° 1.000] #rr | 161,000 161,000 0 0| FDIiZE 0.000 0
g 161,000 0 0.000 0
B i 1.0 BTy 161,000
EEALE 0
ZTDMhIEE 161,000
datal ({§#)
2




= REE?
=25 1 A B (i 3= i
FEHES 3366 | EE 55 ZeEE| 3366 |mEIMEEE
H & # [EfI#h B 15(30° ~45° ) 31—} No R B 1.00 RGBS EiRT AE e A A=E¢
B & |50m<L=80m _ _ 2 - NEZEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
833/ tasimR1830° ~45° )[50<L=<80 1.000] #rr | 169,050 169,050 0 0/161,000¢1.05=169,050 | | 0.000 0
i 169,050 0 0.000 0
B i 1.0 BTy 169,050
EEAGE 0
ZDMRE 169,050
data| (f5&) R—1J2F FEE 50miB8OmLLT fHIE%RE 105 ZFOMRE
2




A A R B A %
EHES 3367 | mE 55 ZEE| 3367 |EEAMEEE
Bl&F [E/L—ILEHE R B 1.00 {E R B L t AE e E A=
# & [L=50m _ _ . 3 NEEAGE B o= [[REesRONES)
3% | BN T B & | By B m | & %8| B i | & %8 i B& | = %8
570[E/L— /L&l 50mEL T .0 t 12,800 12,800 0 0| Z DR E 0.000 0
12,800 0.000 0
B 1 1.0 t24Y) 12,800
EEANE 0
ZTRMBEE 12,800
data| (&) ZDHREE




= REE?
SR KBS gt
EHES 3368 | mE 55 Z8ES| 3368 |EEannEEE
Bl&F [E/L—ILEHE 1-FNo YER D 1.00 {E R B L t AE e E A=
B & [50m<L=100m _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
571[E/L— L&l 50m#B100mLL T 1.000] t 20,700 20,700 0 0| Z DR E 0.000 0
B 20,700 0 0.000 0
B 1 1.0 t24Y) 20,700
EEAGE 0
ZTRMBEE 20,700
data| (5#)
2




AR 22 {8 31| BE i =%

fREEL
L
EHES 3369 | mE 55 ZEE| 3369 |EEAMEEE
Bl&F [E/L—ILEHE 1-FNo YER D 1.00 {E R B L t AE e E A=
# 35 [100m<L=200m _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
572| E/L— L&l 100mi#B200mLL T 1.000] t 25,900 25,900 0 0| Z DR E 0.000 0
B 25,900 0 0.000 0
B 1 1.0 t24Y) 25,900
EEAGE 0
ZTRMBEE 25,900
data| (5#)
2




= aEEL
kR R E ey
FHES 3370 EE 55 ZHFEE| 3370 |mEzmmEE
Bl4&F [B/L—ILEE-BE 1-FNo R 1.00 I AE e RAE A=E8
B & |L=50m _ _ % B NEEAE B oz ||EEss0nEs)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
579|E/L—ILE% - #ZE [50mLUT 1.000| #Fr | 225,500 225,500 0 0| ZDHhEE 0.000 0
g 225,500 0 0.000 0
B i 1.0 BTy 225,500
EEALE 0
ZTDMhIEE 225,500
datal ({§#)
2




= aEEL
kR R E ey
IEHES 3371 HmE 55 ZEE| 3371 |EEsMEEE
Bl % [E/L—ILEEE-HE 1-FNo ER 9 B 1.00 ERk B &Rk AE BirENEB R
& 15 [50<L=100m _ _ % B NEEAE B oz ||EEss0nEs)
e 7 H 1 B = | B B Im | & % | B m | = %= i H® | = %8
580|E/L—JLEEER - |50mEB100m L T 1.000| & Fr [ 372,000 372,000 0 0| ZDHhiRE 0.000 0
B 372,000 0 0.000 0
B i 1.0 ERF&Y 372,000
EEAGE 0
ZTDMhIEE 372,000
datal ({§#)
2




= aEEL
kR R E ey
&S 3372 EE 55 BZHEE| 3372 |mEmmmEE
Bl % [E/L—ILEEE-HE 1-FNo ER 9 B 1.00 ERk B &Rk AE BirENEB R
& 8 [100<L=200m _ _ % B NEEAE B oz ||EEss0nEs)
e 7 H 1 B = | B B Im | & % | B m | = %= i B3 | = %8
581|E/L—JLEEER - #% | 100miEB200m LA T 1.000| #Fr [ 695,000 695,000 0 0| ZDHhiRE 0.000 0
B 695,000 0 0.000 0
B i 1.0 ERF&Y 695,000
EEAGE 0
ZTDMhIEE 695,000
datal ({§#)
2




A A R B A i
EHES 3373 | mE 55 Z8RES| 3373 |EEsnnEEE
HEl&H# |[E/L—ILiEH R B 1.00 YE R BT H AE e A A=E¢
# & [L=50m _ _ . 3 NEEAGE B o= |[eEss0nEs)
R [EliNe| 2 T B & | Efu| = il % | B im | = %8 i EES
812|E/L—ILEH 50mUT .0 = 1,350 1,350 0 BRZE 0.000
i 1,350 0.000
H i 1.0 H4Y 1,350
EEAGE 0
ZTDMhIEE 1,350
data| (5#)
2




A A R B A i
EHES 3374 | EE 55 ZES| 3374 |EEsnnEEE
HEl&H# |[E/L—ILiEH R B 1.00 YE R BT H AE e A A=E¢
# 55 [50<L=100m _ _ 1% - NEEAE B o= |[eEss0nEs)
R [EliNe| 2 T B & | Efu| = il % | B im | = %8 i EES
813[E/L—ILEH 50m#E100mLL T .0 = 1,500 1,500 0 BRZE 0.000
i 1,500 0.000
H i 1.0 H4Y 1,500
EEAGE 0
ZTDMhIEE 1,500
data| (5#)
2




= REE?
SR KBS gt
EHES 3375 | mE 55 Z8ES| 3375 |EEsnnEEE
B{fi&® [E/L—ILiER 1-FNo YER D 1.00 YE R B L H AE e E A=
# & [100<L=200m _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
814|E/L—ILEH 100m#E200mELF 1.000, H 1,850 1,850 0 BRZE 0.000 0
1,850 0 0.000 0
H i 1.0 H4Y 1,850
EEAGE 0
ZTDMhIEE 1,850
data| (5#)
2




= fREEL
SR KBS 52t
EHES 3376 | mE 55 Z8RES| 3376 |EEannEEE
BmAF [Em RO AT J1-FNo ER > £ 1.00 FEINIES RE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T B & | By B m | & %8| B i | & %8 i B& | = %8
600 | ZE{E B U B A 4+ [+ 1.000| X7 223,000 223,000 0 0| Z DR E 0.000 0
B 223,000 0 0.000 0
B 1 1.0 X7H%4Y 223,000
EEANE 0
ZTDMhIEE 223,000

data| (5#)




= REE?
=25 1 A B (i 3= e
FEHES 3377 | e 55 ZRES| 3377 |wesmkemE=
B4 5 [#6KEBGR JEEx) B B 1.00 1 R BT & A AE BiirENEB#
B & _ _ f 3 NEEAGE B o= [[REesRONES)
3% | BN T B & | By B m | & %8| B i | & %8 i H® | = %8
604|#8/KE (K> 73&E8x) |20m L E150m LT .000| &FR 19,200 19,200 0 O FDthiZE 0.000 0
19,200 0.000 0
B i 1.0 EFFLY 19,200
EEALE 0
ZTRMBEE 19,200
datal ({§#)
2




= 2, REE?
Sk ek ARl 3%t
FEHES 2150 | ES 55 EZRES| 2150 |mesmkeE=E
B4 |Gt EE R 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & [AEBAR HREEE06km2LLT 3-2 2 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1.000 A 65,500 65,500| 65,500 65,500 0.000 0
2| EEHED R ERAEHE 1.500[ A 57,400 86,100| 57,400 86,100 0.000 0
5|3EMC RIFZMTEHEEEREE 1.500f A 32,800 49,200/ 32,800 49,200 0.000 0
B 200,800 200,800 0.000 0
B 1 1.0 X7H%4Y 200,800
EEANE 200,800
ZTDMIRE 0
data| (&%) #H1E{%%1.0
2




= 2, REE?
AR BER i
HHES 2216 | = 55 ZHRES| 2216 |EEsnEEE
B4 7 | R EREMNT 1-FNo YER D 1.00 FETCIES e E A=
& |SHTE MTERIER4km LT 3-5-5 1% B NERAGE (REDSLDNES)]
BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| E{EHED RIFMTEHEEEREE 1.200 A 57,400 68,880| 57,400 68,880 0.000 0
3|EMA R EHEEEREE 1.200f A 51,200 61,440 51,200 61,440 0.000 0
4|3ENB RIFZMTEHEEEREE 1.200f A 40,600 48,720| 40,600 48,720 0.000 0
5|HiEfiC R EEEREE 0.600] A 32,800 19,680 32,800 19,680 0.000 0
6| FfiiE R EHEEEREE 1.800/ A 29,000 52,200| 29,000 52,200 0.000 0
B 250,920 250,920 0.000 0
B 1 1.0 X7H%4Y 250,920
EEANE 250,920
ZTRMBEE 0

(E%) WHIEFHRE.2




= 2, REE?
Sk ek ARl 3%t
FEHES 2154 | ES 55 ERES| 2154 |mesmeEs=E
B4 |Gt EE R 1-FNo ER > £ 1.00 FETCIES RE e E A=
# & |[AEBANS HREEE06km2LLT 3-2 2 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1.500] A 65,500 98,250/ 65,500 98,250 0.000 0
2| EEHED R ERAEHE 2.250] A 57,400 129,150, 57,400 129,150 0.000 0
5|3EMC RIFZMTEHEEEREE 2.250] A 32,800 73,800 32,800 73,800 0.000 0
B 301,200 301,200 0.000 0
B 1 1.0 X7H%4Y 301,200
EEANE 301,200
ZTDMIRE 0
data| (&%) #H1E{R%1.5
2




= 2, REE?
AR BER i
FEHES 2194 | ES 55 ERES| 2194 |mesmkeEs=E
HEmZ T (s R st 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & RS 1ERT I REEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
3|EMA R EHEEEREE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 0.500] A 40,600 20,300/ 40,600 20,300 0.000 0
5|HiEfiC R EEEREE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
6| FfiiE R EHEEEREE 1.500f A 29,000 43,500/ 29,000 43,500 0.000 0
B 205,200 205,200 0.000 0
B 1 1.0 X7H%4Y 205,200
EEANE 205,200
ZTRMBEE 0
data| (&%) #H1E{%%1.0
2




= 2, REE?
AR BER i
FEHES 2195 | ES 55 ERES| 2195 |gesmkeE=E
HEmZ T (s R st 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & [IRE26E HREEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.600] A 57,400 91,840 57,400 91,840 0.000 0
3|EMA R ERAEHE 1.600[ A 51,200 81,920| 51,200 81,920 0.000 0
4|3ENB RIFZMTEHEEEREE 0.800] A 40,600 32,480| 40,600 32,480 0.000 0
5|HiEfiC R ERAEHE 1.600[ A 32,800 52,480| 32,800 52,480 0.000 0
6| FfiiE R EHEEEREE 2.400] A 29,000 69,600/ 29,000 69,600 0.000 0
B 328,320 328,320 0.000 0
B 1 1.0 X7H%4Y 328,320
EEANE 328,320
ZTRMBEE 0
data| (f&%&) #H1E{%%11.6
2




= 3 REEL
AR B T
M &S 2196 | e 55 ZiRE S| 2196 |AEGHEEE
HEmZ T (s R st 1-FNo ER > £ 1.00 FETCIES RE e E A=
B & [HREISERT HRMEEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 2100 A 57,400 120,540 57,400 120,540 0.000 0
3|EMA R ERAEHE 2.100] A 51,200 107,520, 51,200 107,520 0.000 0
4|3ENB RIFZMTEHEEEREE 1.050 A 40,600 42,630| 40,600 42,630 0.000 0
5|HiEfiC R ERAEHE 2.100] A 32,800 68,880| 32,800 68,880 0.000 0
6| FfiiE R EHEEEREE 3150 A 29,000 91,350/ 29,000 91,350 0.000 0
B 430,920 430,920 0.000 0
B 1 1.0 X7H%4Y 430,920
EEANE 430,920
ZTDMIRE 0
datal (&%) #HIEHRE2.1
2




Sk ek ARl "3
2201 E e 55 ERES| 2201 |EBOHEEE
AR 1-FNo YER D 1.00 FETCIES ESTETAE J=E-T
& [170v) MRMEE0.6km2AT 3-5-4 2 - NEZEAE (HED>E DI ES)
£ o = | B B @ 28 | H | £ % H# 8
FEHER RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
FETA R ERAEHE 1.500] A 51,200 76,800, 51,200 76,800 0.000 0
HEnB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
HEfC R ERAEHE 1.000] A 32,800 32,800[ 32,800 32,800 0.000 0
Bifig R EHEEEREE 0.500] A 29,000 14,500| 29,000 14,500 0.000 0
i 250,800 250,800 0.000
B 1 1.0 X7H%4Y 250,800
EEANE 250,800
ZTRMBEE 0

(E%) WHIEFHRE1.0




Sk ek ARl "3
2202 | = 55 EHRES| 2202 |EEsnEEE
AR 1-FNo YER D 1.00 FETCIES ESTETAE J=E-T
& 270y AR EIE0.6km2LL T 3-5-4 1% - NEEAE (REDSLDHES)
£ o = | B B @ 28 | H | £ % H# 8
FEHER RIFMTEHEEEREE 1.950] A 57,400 111,930 57,400 111,930 0.000 0
FETA R EHEEEREE 1.950] A 51,200 99,840 51,200 99,840 0.000 0
B EmB RIFZMTEHEEEREE 1.300 A 40,600 52,780| 40,600 52,780 0.000 0
HEfC R EEEREE 1.300] A 32,800 42,640 32,800 42,640 0.000 0
Bifig R EHEEEREE 0.650[ A 29,000 18,850| 29,000 18,850 0.000 0
i 326,040 326,040 0.000
B 1 1.0 X7H%4Y 326,040
EEANE 326,040
ZTRMBEE 0

(E%) WHIEFHRE.3




Sk ek ARl "3
2203 | = 55 ZHRES| 2203 |EEsnEEE
AR 1-FNo YER D 1.00 FETCIES ESTETAE J=E-T
& 13700 ARELEIE0.6km2LL T 3-5-4 1% - NEEAE (REDSLDHES)
£ o = | B B @ 28 | H | £ % H# 8
FEHER RIFMTEHEEEREE 2400 A 57,400 137,760 57,400 137,760 0.000 0
FETA R EHEEEREE 24000 A 51,200 122,880| 51,200 122,880 0.000 0
HEnB RIFZMTEHEEEREE 1.600[ A 40,600 64,960| 40,600 64,960 0.000 0
HEfC R EEEREE 1.600] A 32,800 52,480 32,800 52,480 0.000 0
Bifig R EHEEEREE 0.800] A 29,000 23,200/ 29,000 23,200 0.000 0
i 401,280 401,280 0.000
B 1 1.0 X7H%4Y 401,280
EEANE 401,280
ZTRMBEE 0

(E%) WHIE%RE1.6




= 2, REE?
AR B T
I &5 2214 | S 55 EREE| 2214 |EEakERE
B4 7 | R EREMNT 1-FNo ER > £ 1.00 FETCIES RE e E A=
B 5 | 1HE MTERERAKmILT 3-5-5 2 - NEZEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
5|HiEfiC R ERAEHE 0.500] A 32,800 16,400] 32,800 16,400 0.000 0
6| FfiiE R EHEEEREE 1.500f A 29,000 43,500/ 29,000 43,500 0.000 0
B 209,100 209,100 0.000 0
B 1 1.0 X7H%4Y 209,100
EEANE 209,100
ZTDMIRE 0
data| (&%) #H1E{%%1.0
2




= 2, REE?
AR BER i
&S 2215 | mE 55 EHREE|] 2215 |EamsEE
B4 7 | R EREMNT 1-FNo YER D 1.00 FETCIES e E A=
& |2WTE MTEARERAKm LT 3-5-5 1% B NERAGE (REDSLDNES)]
BfiNo| G o % = | Hfr| B ff 28 | H | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 1.100] A 57,400 63,140| 57,400 63,140 0.000 0
3|EMA R EHEEEREE 1.100[ A 51,200 56,320/ 51,200 56,320 0.000 0
4|3ENB RIFZMTEHEEEREE 1.100] A 40,600 44,660| 40,600 44,660 0.000 0
5|HiEfiC R EEEREE 0.550] A 32,800 18,040/ 32,800 18,040 0.000 0
6| FfiiE R EHEEEREE 1.650] A 29,000 47,850| 29,000 47,850 0.000 0
B 230,010 230,010 0.000 0
B 1 1.0 X7H%4Y 230,010
EEANE 230,010
ZTRMBEE 0

(E%) #HIE%RER11




= 2, REE?
Sk ek ARl 3%t
HHES 2227 | mE 55 ERES| 2227 |EEsnEEE
B4 | SRESERK 1-FNo ER > £ 1.00 FETCIES RE e E A=
# & [FAEE R _ 3-6 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.500f A 40,600 60,900/ 40,600 60,900 0.000 0
B 198,200 198,200 0.000 0
B 1 1.0 X7H%4Y 198,200
EEAGE 198,200
ZTRMBEE 0
data| (&%) #H1E{%%1.0
2




= 2, REE?
Sk ek ARl 3%t
HHES 2229 | mE 55 ERES| 2229 |EEskEEE
B4 | SRESERK 1-FNo ER > £ 1.00 FETCIES RE e E A=
B G [HEERHS _ 3-6 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.800] A 57,400 103,320 57,400 103,320 0.000 0
3|EMA R ERAEHE 1.200f A 51,200 61,440 51,200 61,440 0.000 0
4|3ENB RIFZMTEHEEEREE 1.800/ A 40,600 73,080 40,600 73,080 0.000 0
B 237,840 237,840 0.000 0
B 1 1.0 X7H%4Y 237,840
EEANE 237,840
ZTRMBEE 0
data| (&%) #H1E{%R%1.2
2




= REE?
SR KBS gt
HHES 3299 | mE 55 ZHRES| 3299 |EEsnEEE
HEifAH [(ERBERYEESDH J1-FNo ER > £ 1.00 FETCIES RE e E A=
B S |EEAME@ENSEREXBEESD) 1-4 % B NEEAGE B o= || BE2s0nES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
828| EHEBEMUFELYD B ERETLBESD 1.080| X7 64,600 69,768 0 0| Z DR E 0.000 0
B 69,768 0 0.000 0
B 1 1.0 X7H%4Y 69,768
EEANE 0
ZTRMBEE 69,768
data| (%) 0.04X+0.76 & —JvH8A
2




= fREEL
SR KBS 52t
e 3301 BB 55 3301 |@BLGNEEE
H {4 75 B R E O /ER b R B 1.00 2% AE e A A=E¢
B e EERAME@AEREXBEESN) 1- % 8 NEEZEAHE = || EBEDSE05%S)
#E|#EN] & 5 = | B B £8 & EE H# | € %
830| M B 1E K B EREED 080| %7 60,500 65,340 0| Z DR E 0.000 0
i 65,340 0.000 0
B 1 1.0 EFHELY 65,340
EEAGE 0
ZDMRE 65,340

data| (&%) 0.04X+0.76 & U9 8A&




T AR B %
&S 3237 mE 55 Z85EE| 3237 |mEameEE
B {45 #4 | #h R OKAR B & F DR AT 1-FNo YER D 1.00 YE R B L FL RE ESTETAE J=E-T
B & _ 3-5-2 . 3 NEEAGE B o= |[eEss0nEs)
R [EliNe| 2 T 1 ERE ERT % | B im | = %8 i EER g
* 4|3ENB RIFMTEHEEEREE 0.320 40,600 12,992] 40,600 12,992 0.000 0
* 5|HiEfiC R EHEEEREE 0.360 32,800 11,808| 32,800 11,808 0.000 0
* e =] RIFZMTEHEEEREE 0.360 29,000 10,440| 29,000 10,440 0.000 0
22| T R EEEREE 0.300 29,600 8,880 0 0 0.000 0
504 |41 ¥ & MR LHEIcHTHEE 1.000 35,240 352 0 0 0.000 0
i 44,472 35,240 0.000
B 1 1.0 AL.3Y 44,472
EEANE 35,240
ZTDMhIEE 9,232

data| (5#)




= REE?
=25 1 A B (i 3= i
HHES 3378 | mE 55 ZiES| 3378 |mEsnmnEEE
BHifiaH [SEHERVEEE 1-FNo ER > £ 1.00 YE R B L = e E A=
B & _ _ e B NEEAHRE (BEDS>HLDNED)]
T e i3 o % H = |BHMa| B W [ £ %@ | B @ | £ % Hi# | £ %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
5|HiEfiC R EHEEEREE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
e =] RIFZMTEHEEEREE 2.000] A 29,000 58,000/ 29,000 58,000 0.000 0
B 148,200 148,200 0.000 0
B fiff 1.0 KBy 148,200
EEANE 148,200
ZTRMBEE 0
data| (5#)
2




= REE?
=25 1 A B (i 3= i
HHES 3379 | mE 55 ZHES| 3379 |mEsnEEE
BEifaH (MREFZEESERMER 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ i B NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 1.000 A 57,400 57,400| 57,400 57,400 0.000 0
3|EMA R EHEEEREE 2500 A 51,200 128,000/ 51,200 128,000 0.000 0
4| EfB RIFZMTEHEEEREE 2500 A 40,600 101,500 40,600 101,500 0.000 0
5|HiEfiC R EEEREE 2500 A 32,800 82,000/ 32,800 82,000 0.000 0
6| FfiiE R EHEEEREE 1.500f A 29,000 43,500/ 29,000 43,500 0.000 0
B 412,400 412,400 0.000 0
B fiff 1.0 XHY 412,400
EEANE 412,400
ZTDMIRE 0
data| (5#)
2




= REE?
SR KBS gt
EHES 2814 | mE 55 ZREE|] 2814 |EEsMEEE
Bl& T [SA kg% 31—k No ER > £ 1.00 YE R BT H AE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & |Efu| = i | = % | B m | & % i B& | = %8
32[5A b/ 18%H.50 [1500 cc 8.000| FRS 501 4,008 0 126.5%2/30=8.43]| 0.000 0
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